Total No. of Pages : 32 Q. Booklet
Total No. of Questions : 100 Code D

V-TG CET - 2023

(Common Entrance Test for Admission into Class - V
in TSWR, TTWR, TSWREI & TREI Societies)

Time : 2 hours : Max Mark : 100

Instructions to Candidates :-

uq&go!: B -
Each Question carries 1 mark.
O HH0 o8 Sty

2.  This Question Paper consists of Five parts.
BTBBS B8 LPmesT o,
Part - A : 20 Marks (Q. No. 1-20) - Telugu.
Part - B : 25 Marks (Q. No. 21-45) - English.
Part - C : 25 Marks (Q. No. 46-70) - Mathematics
Part - D : 20 Marks (Q. No. 71-90) - Environmental Science.
Part - E : 10 Marks (Q. No. 91-100) - Mental Ability.

3.  Before you begin to answer, fill in the necessary particulars and sign on the OMR
sheet, failing which the script will not be valued.
maPeess TAErRS Savoto OMR &° dsoeeiss Job, eitoes oo oird, 8IS amrwms
SBo DEwEs.

4. You are prohibited from writing your name and register number on any part of
the OMR sheet.
OMR &° 2o & md S &b 8236 Bow smf) DRSSO,

5. In case, your Hall Ticket Number is not printed on the OMR sheet, inform the
invigilator.
5E <335 Bopg OMR &° sooBosetsdiyt e d &) gAmded LB,

6. You are prohibited from bringing loose sheets of paper or books, written or
unwritten, printed, typed or cyclostyled into the examination hall.

o, BoEodS, TP S pERE Jowwds 26 dubots/pywess Wiy wESE

SRoKTEPEED,

7.  Choose the correct answer and darken the relevant circle in the OMR sheet with
a Blue / Black ball point pen.
oS aTreoon Jgowows™ OMR &% Yowods HHTezor) (circle) OMR 29/ N P)
ool 25 (el acsn@/be:m dare.

8. Candidates are NOT permitted to leave the Exam Hall till the last 10 minutes.
Apos HOY Swoairdd D0 10 Iseoe BOH eloes N0 6 90D I
EDSEREL L tutllnle LN
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Code

PART - A
denit (Q.No. 1-20)

1. 3% &08 Jerco. Ao AR Bio O s7erd DodRa?
(A) syars sPeo

(B) 2;53:565 oo
(C) &»8 oo
(D) &&8, sveo

2. 55 Je P&ob. BIEE Av Ak 880 D rgrie?
(A) Toaruse
(B) &%
(C) wsgowe
(D) J@spo

3. CTHROR0 (BHAOWSRIRY, oo cRB BOWNRY? en ROKPR) TPRNE SHtio?
(A) oraFen BT
(B) @o efFrorciormmrt
(C) Kobers oD
(D) BdaoKoed SEheimEses

4. R 823 wiusde.
(A) @,
(B) rocty
(C) wily
(D) B
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5. &2 T S SBTRe HoTR.
(A) erp® '
(B) i
(C) &
(D) &.a.

6. DaakeEds B O Do rw P2
(A) o0 Dexp
(B) =% 2ex
(C) ®ohco Dexy

(D) ﬁ:b& Bug

7. BOEFIoSA; Bogeo JoBod?
(A) 12 500B
(B). 15 S0cd
(C) 8=0ed
(D) 11 %08

8. [wod BHY K .....
(A) oo
(B) /%%
(C) 8%
(D) @
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9. wND0’ e HoERS wgo D32
(A) zomdo
(B) e
(C) ez%o

(D) 8o,

10. PSE50S" Boks O (PFIN BEHD STroce I8 &89
(A) g
(B) @
(C) roe
(D) 2%oirerd

11.  5HSEE 066" D96 BariscBes B BPIF0?
(A) B¢ SOOI
(B) =,

(©) oy
(D) &

12. 48383 Holmsoe! edHm ...
(A) o5 B0 Yooy
(B) Tok Hov Soaw¥
(C) Rordn D& Sooy

(D) =reoih 600 Kool

V-TG - BOOK-D [4]




13.

14.

15.

16.

BB Bowen 2305636: ......... DorolFon.
(A) Sreo

(B) edropres

(C) 285 dewses

(D) Srrew

B+ (300 TIE° HoIXYY $or, HoGotod.
(A) B |
(B) &ume

(©) 85

D) &5y,

& HO JTPY HoGoted.
(A) s

(B) %

(C) oo

D) so=0%

DETTRED $F wOAK Bodithorm @ Hokoll atoHowrt?
(A) Bosodisde

(B) &wg

(C) e&ma

(D) &dor

V-TG - BOOK-D [5]
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17.

18.

19.

20.

&1 (308 IS 9 wotseddss $ERQy KoQoBod.

(A) ooy
(B) esaaeo
(C) epdres
D) &=

D6 R DR VOFS mow HBo NA?
(A) Dew

(B) Hoeen

(C) oo

(D) Steciew

Bob IS it (SremiEoo) BT, HGotod.
(A) sawo
(B) &a%.
©) Seo
(D) Gow

Loty G wgo JR0a?
(A) oo
(B) Ryareesd
(C) oot

(D) &

V-TG - BOOK-D [6]
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21.

22,

23.

24.

25.

' PARE B
ENGLISH (Q.No. 21-45)

Choose the plural form of ‘tooth’.
(A) tooths

(B) teeths

(C) toths

(D) teeth

Bharath ...... Sharath are best friends.
(A) and

(B) but

(C) or

D) if

Fill in the blank with right words.
Hari went to the ...... shore.

(A) see

(B) she

(C) sea

(D) tree

Find the missing letters.
Emper _ _

(A) or

(B) ar

(C) er

(D) tir

Replace the underlined word with suitable pronoun.
Harshith is a good boy.

(A) He

(B) She

(C) It

(D) They

V-TG - BOOK-D (7]
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26.

27.

28.

29.

30.

Q. Booklet
Code

Fill in the blank with suitable pronoun.

Harini is a good girl. ...... likes to help others.
(A) She ‘

(B) He

(C) They

(D) We

Identify the noun in the below given sentence.
Ricky’s father is always nice to us.

(A) father

(B) nice

(C) to

(D) wus

Pick the odd one out.
(A) Washing clothes
(B) Folding clothes
(C) Ironing clothes
(D) Reading books

Which of these is not an action word ?
(A) Walk

(B) Play

(C) Sing

(D) Was

Identify the wrongly spelt word.
(A) relevant

(B) separate

(C) until

(D) recieve

V-TG - BOOK-D [8]




31.

32.

33.

34.

Q. Booklet |
Code D

Read the following passage and answer the given questions.

One day, Dronacharya, the Pandavas and the Kouravas came to the
forest with a dog, for hunting. Suddenly the dog started barking. An arrow
came from somewhere and struck the mouth of the dog. Another arrow
followed it, and another. Seven arrows came one after the other.

How many arrows came one after the other ?
(A) Three :

(B) Seven

(C) Six

(D) Eight

Choose the correct meaning of the word ‘barking’.
(A) Watching

(B) Smelling

(C) Shouting

(D) Hearing

Why did they go to the forest ?
(A) For hunting
(B) For enjoying
(C) For relaxing
(D) For fighting

Who came to the forest ?
(A) Dronacharya

(B) The Pandavas

(C) The Kouravas

(D) All the above.

V-TG - BOOK-D [9]
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35. Where did the arrow hit the dog ?
(A) The mouth
(B) The stomach
(C) The leg
(D) The neck
®  Read the poem and answer the following questions.

“Think ...... ” said the Robin.
“Think....... ” said the Jay
Sitting in the garden,
Talking one day.

“Think about the neople.
The way they grow.
They don’t have feathers
At all, you know.

36. Who don’t have feathers at all ?
(A) Robin
(B) Jay
(C) People
(D) Birds

87. Where the birds are sitting in the poem ?
(A) In the garden.
(B) On the building.
(C) In the forest.
(D) On the trees.

V-TG - BOOK-D [10]




38. Identify the silent letter in the following words.

39.

40.

41.

Talk, Walk, Chalk
(A) a

(B) h

©) k

D) 1

What are the birds talking about ?
(A) Animals

(B) People

(C) Insects

(D) Birds

What are the two birds mentioned in the poem ?
(A) Robin

(B) Jay

(C) Robin and Jay

(D) None of the above.

The place where we go to buy vegetables is ......
(A) Temple

(B) Library

(C) Zoo

(D) Market

V-TG - BOOK-D [11]
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42. Fill in the blank with correct preposition.
The carpet is ...... the floor.
(A) under
(B) of
(C) in
(D) on

43. Fill in the blank with correct word.
I wish to buy a kite ...... I don’t have money right now.
(A) but
(B) and.
(C) so
(D) therefore

44. Fill in the blank with correct article.
Suma wants to buy ...... orange.
(A) an
(B) the
(C) a
(D) few

45. Identify the adjective in the below given sentence.
Raja likes blue balloons.
(A) Raja
(B) likes
(C) balloons
(D) blue

V-TG - BOOK-D : [12]
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Q. Booklet
Code

MATHEMATICS (re3s 7°go) (Q.No. 46-70)

46. Seema studies for 3 hours everyday. How much time will she

study in a week ?
(A) 21 hours
(B) 20 hours
(C) 18 hours
(D) 15 hours

o (08% 3 Howes BEHBICE. ©axd ¥ Tod' D) Nowen WERBCE?

(A) 21 Koeoew
(B) 20 Kowses
(C) 18 rowen
(D) 15 Keoese

47. Sum of the all odd numbers between 110 and 115is......
110 08ck 115 © Bogss 9y ey B Hopw g

(A) 225
(B) 220
(C) 114
(D) 224

48. How many edges do brick-shaped object has ?
5e30% ESE0S° &1 SRIDH Iy woies Gowron?

A) 12
(B) 8
(C) 6
D) 10

49. 475cmofcloth=......
.48 e 20.00.

475 .. oY =

(A)
(B)
(C)
(D)

75,4
5,47
4,75
5,74

V-TG -BOOK-D
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50. Aboy can read 17 pages in a day. In how many days, he can read
340 pages ?
8 oot w8 Ferd’ 17 Hdes BEDROE. @owd 340 Hloss Wi A
Prrod® Bissroes?
(A) 19
(B) 20
(C) 21
(D) 17

51. What is the perimeter of the given figure ?
(A) 54 cm
(B) 54m
(C) 56em 4
(D) 56m 16 w m
FAR Bee WoeSTB JoB? 3 m ; :

8

(A) 54 2o.5. sl
(B) 54 . 20 2o,
(C) 56 c.o0.

(D) 56 .

B
Vs

52. The descending order of 259, 654, 794, 385, 645.

259, 654, 794, 385, 645 oo estine (500’ @rakm
(A) 259,385,645, 654, 794.
(B) 794,654, 645, 385, 259.
(C) 794,645,654, 385, 259.
(D) 259, 385, 654, 645, 794.

53. Anitha has ¥ 342. Akhila has ¥ 125 less than what Anitha had ?
How much money does Akhila has ?
WS SIS X 342 &0, edo $E, 0B B Py Sexy 37 T 125 8% ETva.
000 @do SIS JoB Ley &od?
(A) 113
() €213
(0 R 117
D) 217

V-TG -BOOK-D (14]
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54. Swathi has to pour out 2 litres of juice in glasses that can hold
200 ml. How many such glasses are required ?

0 2 beois Bots 53, 200 20.9. B8 Mved® Fareod, ewred mioes
AR SHRTDT 02

A 15

(B) 12

(C) 10

D) 8

55. What can be measured by using Centimeters or Meters ?
(A) Length
(B) Weight
(C) Temperature
(D) Money

200 TS B doedBuety Sar oexs® SeoPiio?
(A) &

(B) oty

©) &b

D) &Gy

56. |6x4 3x8

24

2 8x3

Jid 2B
) 8x4
) 4x6
) 12x10

V-TG -BOOK-D [15]
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57. My weight is 22 kg. My father’s weight is 3 times my weight. What is
my father’s weight ?

(A) 22kg
(B) 64kg
(C) 60kg
(D) 66 kg

T 2R 22 .. B THME oy T i) 57 3 S 5. wond B
TYTO 2P JoB?

(A) 22 .
(B) 64 2.
(C) 60 &.@~.
(D) 66 2.

58. If© = 8, then ©QCO = ?
50 = 8 wand OGO =?

A) 24
(B) 40
(C) 36
(D) 32

- §9. How many lines can we draw in the given figure to make it into

equal halves ?

(5%, e, Todls B grmes gflotownss ) Abes Adbiienas?

(A) 4
B) 2
C) 3
D) 5

V-TG -BOOK-D [16]
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60. Vanitha purchased 2 kg. of tomatoes, 250gm. of green chilli and
500 gm. of carrot. What is the total weight Vanitha carried ?

" (A) 3kg.
(B) 4kg.

(C) T7kg.250gm.
(D) 2kg. 750 gm.

$0% 2 &r. © wure, 250 ([, B dobksraies $x8a 500 [ S
£75;0. 3B 0G0 JoB Y fiv SFOMCLOR RWFH00?

(A) 3 &w.

(B) 4 3.

(C) 7 &.qv. 250 (.

D) 2 3.qv. 750 (v

61. Ifone third of 60 note books are used, then the number of note books
unusedis...... '

60 Seso piTol® 5o gPio TED, TED Fe0 PR WOy rerressees
(A) 40
(B) 30
(C) 60
(D) 50

62. Write 1308 in words.
(A) Thirteen hundred 'eighty.
(B) One thousand thirty eight.
(C) One thousand three hundred eight.
(D) Thirteen hundred eighteen.

1308 o voved’ Eronm

(A)  SEHore Soke R

(B) e Bows Saspy D000

(C) w¥Doss Sars Doty I8
(D) DEHIFE: Hose $gINE

V-TG -BOOK-D 171




63. What will be the next number in the given series ?

Q. Booklet
Code D

30y Be36” Bthams iy Sopy 89

91,497,383, 49..

(A)
(B)
()
(D)

46
47
14
45

64. How many grams are there in 2 kilograms ?

2 35 misoo0d® A7) rRcoenowra?

(A)
(B)
(C)
(D)

500

1000
2000
1500

65. Iam a three digit number. I have 5 in hundreds place, 3 in tens place
and 8 in ones place. Who am I ?

ST 3 wc3e Bopgho. Sose Fed® 5 s, bte Fed® 3 wv B0 280 Fvos®
8 3o ¥R ST, oD FHdD?

(A)
(B)
(©)
(D)

538
835
385
583

66. What is the time in the given clock ?

NGO E0 ot BRoaizry SrD5e8?

(A)
(B)
(C)
(D)

12:00
11:00
12 :56
11:55

V-TG -BOOK-D [18]
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67. “Two thousand one hundred and thirteen” in figures :

(Dot Do 2.5 HOE HEVIPE B0 HOFPLFHE” Frakm

(A)
(B)
©)
(D)

2103
2301
2113
2311

68. What is the unshaded part in the given figure ?

B0 He208” B Dol gRie

(A)

(B)

(C)

(D)

"_’:’7,,___-{;’,::1_’__,_.-—" ]

9
7

69. What should be subtracted from 1050 to get 580 7
1050 o0& D20 HURS 580 Hiaed?

(A)
(B)
©
(D)

470
1630
580
1050

70. If 6 oranges cost is T 54, then how much does 1 orange cost o

6 0oz ok W T 54 eso00t of 00w Hodh We Nob?

(A)
(B)
©)
(D)

X9
36
38
=7

V.TG -BOOK-D (19]
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72.

73.

Q. Booklet
Code

PART -D

ENVIRONMENTAL SCIENCE (Q.No. 71-90)

Mary Kom is player of which game ?
(A) Chess

(B) Boxing

(C) Shooting

(D) Tennis

WSS 0 wek Sowodods Eavwesio
(A) 2™
(B) 3R
(C) %reloh
(D) 8o

Which of the following state is not the border state of Telangana ?
(A) Maharashtra

(B) Karnataka

(C) Andhra Pradesh

(D) Tamilnadu

808 T Boomes D3 VO orige S0 a9
(A) TR

(B) s

(C) esopEs

D) B

Which of the following is used to measure the temperature of our body ?
(A) Thermometer

(B) Barometer

(C) Hydrometer

- (D) Stethoscope

G ($00 IE° 580 &AW(BRo FedmId avaFieIa DAY
(A) @U*’éfbwg :

(B) 2rGhseb

(C) &b

(D) 2WH5

s

V-TG - BOOK-D - [20]



74. From which of the following, Jaggery is prepared ?

75.

76.

(A) Milk

(B) Coconut
(C) Rice

(D) Sugarcane

Boo B Hrod BAREHBocB?
(A) reo
(B) S

(C) Dowge
(D) 8%

The centre part of the eye is called ......
(A) Iris

(B) Taste buds

(C) Ear drum

(D) Sweat pores

08D GR) DOAIPSTTRY) wreeerens LOLFLL.

(A) =080
(B) Soddoolies
(©) 5536
(D) Sssogres

The capital of India is ......
(A) Bhopal

(B) Delhi

(C) Mumbai

(D) Patna

V-TG - BOOK-D [21]
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77. Which animal is found on the Ashoka’s Pillar ?

(A)
(B)
©
(D)

s

(A)
(B)
(©)
(D)

78.
(A)
(B)
(C)
(D)

Lion
Tiger
Deer
Elephant

Brop 5hoW modoy) NO?

weso
DO
20X

RCHC

Which of the following plant root is taken in our food ?

Tomato :
Carrot
Brinjal
Apple

| &4 (308 TS D Jooky, oo wnisiore SikKrowro?

[y
(B)
(C)
D)

79.

Sy SN
%05
Pelelsilenh]

end

Right to Information Act has been implemented in the year ......

BRPTY W, Bgo @ KowByo winead’ H3009

(A)
(B)
(C)
(D)

V-TG - BOOK-D

2005
2010
2004
1991
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80. Part of the plant that grows beneath the soil.

81.

82,

(A) Stem

(B) Flower

(C) Root

(D) Leaf

0o S BOR Book), Bk, gPio

(A) srolio
(B) ¥y
(C) Fw
(D) es%

...... city is called “The city of Lakes”.
(A) Hyderabad

(B) Udaipur

(C) Kerala

(D) Warangal

_asrerevess RHTPR AT S eorle.

(A) b
(B) &&o5owy 6
(C) 3u¢

(D) =ooié

...... is the Telangana state animal.
(A) Tiger

(B) Deer

(C) Elephant

(D) Horse

STOTPEs TP, BOBOR) weeverenns
(A) 9

(B) 2o5

(C) %o

(D) Ko

V-TG - BOOK-D [23]
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83. The Osman Sagar project was constructed on the river ......
(A) Ganga
(B) Musi
(C) Krishna
(D) Godavari

S FHE eDEWO ouvinnen. DO AP,
(A) KoK
(B) maed

© 9
(D) Aovsd

84. Telangana is formed as the ...... state of India.
(A) 1st
(B) 28th
(C) 27th
(D) 29th

Boomre: TRe GPOBETOE" ..., mgprﬁ DS5yEod.
(A 15
(B) 28%
(C) 27%

(D) 2935

V-TG - BOOK-D [24]




85.

86.

87.

Which of the following is called as “Farmer’s friend” ?
(A) Rat

(B) Cat

(C) Earthworm

(D) Deer

B (308 TEE° B DHoD(B worFL?
(A) el

(B) 0

(C) wFaracs

(D) &Re¥

This is not an Electrical home appliance.
(A) Washing machine

(B) Mixie

(C) Grinder

(D) Car

| G4 (300 T8 Jo s 1o 00

(A) hoh Dohe
(B) 04,
(C) Rokd
(D) S

We get oil from ......

(A) Cauliflower

(B) Cabbage

(C) Carrot

(D) Sunflower

5 (308 TG ED Bood HovHn KRB JotoTTn?
(A) =o$0b

(B) =5&

(C) =5

(D) (@& Wit DR

V-TG - BOOK-D [25]
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88.

89.

90.

Q. Booklet
Code

Dr. Salim Ali is a famous ...... of India.
(A) Archaeologist

(B) Ornithologist

(C) Psychologist

(D) Geologist

@y 5o b 15 a8 BoBY BIPGH .evvvreeee

(A) Howy a8

(B) ©3 wyds

(C) Songss Togeg
(D) geeity Tgng

Traffic rules are to be followed to avoid ......
(A) Accidents

(B) Running

(C) Walking

(D) Jumping

3D JT0oumas 8 daires FIoTd?

(A) Ssrores

(B) ®ooAsse

(C) n&sso

(D) &rsso

Children’s day is celebrated every year on ......
(A) 2nd October

(B) 5th September

(C) 15th August

(D) 14th November

o0 OTETY (B8 Bowsto N 383 aticlhBowrin?
(A) oS5 2

(B) dpewd 5

(C) ety 15

(D) ®sowb 14

V-TG - BOOK-D [26]
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PART - E

'MENTAL ABILITY (Q.No. 91-100)

(Q.No. 91-93)

First pair of words are connected with some relation. In the same way, find the
missing word in the second pair.

(Q.No. 91-93)
S 256 Boks Sores 2. Howolied Sestnman, ed Do Dot st ol $ELN
BB BSRTEo8s.

91. Cricket : Bat :: Hockey : ?
(A) Player
(B) Playground
(C) Stick
(D) Ball

@Eﬁ:aﬁsgzzﬁé:‘?
(A) eseormisd

(B) eseigeo

(C) x5

(D) 208

92.

=)

@:%::

(A) ' (B)

11l

(C) E] (D)

V-TG - BOOK-D [27]
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93. Fruit: Banana :: Mammal : ?
(A) Cow
(B) Snake
(C) Fish
(D) Sparrow
Dot 1 wtdBots 1 §uo 1 ?
(A) e
(B) s
(C) 3
(D) Huns

94. Which will come next in ZA, BY, XC, ?

ZA, BY, XC, 2 (55008° stoms 510550 D89
(A) WD

(B) DW
(C) DV
(D) VD

95.

o
(%]

(A)
(B)
(C)
(D)

e 3 & ©

V-TG - BOOK-D [28]




96.

7.

Q. Booklet
Code

Find the odd one out from the given options.
300 TSE° PR TAR HoGotonad,

@) A
® |0
©) <>

(D) O

Wh'hf ti tlggi?
1C raction comes next . 2: 4: 6: 8’
! 1 28 4
2ot o O 00 L I e b < ER T
=9 NeFs 24’86’ 8
o L
10
B 2
T
© 5
12
o B
10

V-TG - BOOK-D [29]
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(Q.No. 98-100) Which figure comes next in the given sequence ?

(QJ7, 98-100) St 008" Sroms Hisy) Berd) HoGoisoswo.

98.

(A)

(€ -

(C) D

100.

(A) £ :

(€) i

V-TG - BOOK-D

(B)

(D)

(B)

(D)

(D)
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(Space for Rough Work)
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(Space for Rough Work)
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